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; 100kN/mM%#BZ % - ~ -|3mEHEZ D ~ - -| 100kN/mi%#8 2% - ~ -[3mEHEZ S -~ -
Zhllst 100|000 ~ 620 77.86 | Fhst | 0.00 ~ 620 1.98 10.57 ZFh st 100|500 ~ 800 77.86 | TS | 500 ~ 800 | 1.98 10.57
2 100kN/mM%#B % % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZ S -~ -
Zhllst 100|000 ~ 741 94.51 | #hst 000 ~ 741|177 9.46 Zhllst 100|500 ~ 9.60 94.51 | Thst | 500 ~ 9.60|1.77 9.46
3 100kN/mM%#B % % ~ -[3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS -~
Fn st 100000 ~ 757 96.86 | =hst | 000 ~ 7571229 12.27 Fn Lot 100|500 ~ 1020 96.86 | =nst | 5.00 ~ 1020|229 12.27
4 100kN/mM%#BZ % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS -~
Zhllst 100|000 ~ 654 82.40 | #nkst | 000 ~ 000) 1.66 8.86 ZThist 100|500 ~ 800 82.40 | #hilst | 500 ~ 800 1.66 8.86
5 100kN/m#Z#BZ% | 1.00| 000 ~ 042 10615 |3ImEEBZS ~ -| 100kN/m#%#25 | 1.00 | 1076 ~ 1200| 106.15 |3mEEZD -~
Fn Lot 100042 ~ 820 100.00| Fnhis | 000 ~ 820|209 11.17 Fn Lot 100500 ~ 1076 100.00 | #hLSt | 5.00 ~ 1200| 2.09 11.17
P 100kN/mM%#B % % ~ -|3mEHEZ D ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS -~
Zhllst 100|000 ~ 754 96.43 | Fhst | 0.00 ~ 7.54|1.80 9.65 ZFh st 100|500 ~ 9.95 96.43 | Thist | 500 ~ 9.95| 1.80 9.65
- 100kN/mM%#B % % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS -~
Zhllst 100|000 ~ 525 65.45 | Fhst | 000 ~ 525|195 10.43 Zhllst 100|500 ~ 620 65.45 | Thist | 500 ~ 620 1.95 10.43
s 100kN/mM%#B% % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS -~
Zhllst ~ Zhst ~ Zhllst ~ Zhst -~
100kN/mM%#B% % ~ ImEBZD ~ 100kN/MZH#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/MZH#EZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
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